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QUESTION 1 
Your application has leveraged the parent-child mid-process dependency relationship for some of 
the case types. Which of the following situations should you be concerned with and have your 
design appropriately avoid? (Choose One) 
 

A. A double instantiation of the child cases 

B. A broken process 

C. A deadlock condition 

D. A critical performance issue 

 
Answer: C 
 
 
QUESTION 2 
Which statement is the least accurate regarding draft flow rules? (Choose One) 
 

A. Rule Resolution ignores them 

B. This is a good practice as it allows you to test the flow while it is still being built 

C. This is a good practice to indicate that your flow is available only for unit testing 

D. They should not be moved to production environment 

 
Answer: A 
 
 
QUESTION 3 
What is the primary benefit of having a framework layer? (Choose One) 
 

A. It provides a reusable foundation for implementations to be built quickly 

B. It provides an application that can be executed by multiple divisions 

C. It improves performance by having fewer rules in the database 

D. It provides a mechanism for exporting applications to different servers 

 
Answer: A 
 
 
QUESTION 4 
If an agent runs at 2:30 PM and if it's configured to run at 30 minutes interval with a max record of 
50, when does the agent run next time? (Choose One) 
 

A. Depends on the number of PRPC nodes 

B. 30 minutes after the last run is started 

C. 30 minutes after the last run is completed 

D. One hour after the last run because all agents can run only once every hour 

 
Answer: C 
 
 
QUESTION 5 
Which of the following statements indicates when the PRPC engine leverages its services API 
layer? (Choose One) 
 

A. When PRPC calls a SOAP service 

B. When a request is coming to PRPC from another program 
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C. When PRPC is deployed as an enterprise application 

D. When PRPC is configured to leverage external databases 

 
Answer: B 
 
 
QUESTION 6 
Which statement is most accurate regarding PRPC locking mechanism? (Choose One) 
 

A. Obj-Open can be used to acquire a lock 

B. The lock string for an object instance of a class that belongs to a class group is determined by  
concatenating the "Keys" area properties on the "Locking" tab with the class group name 

C. If a lock held by a request or is soft, the requestor will need to re-acquire the lock before 
executing another commit operation on the object 

D. A PRPC lock is not needed until the Commit operation is executed 

 
Answer: A 
 
 
QUESTION 7 
Which statement about the BLOB columns is the least accurate? (Choose One) 
 

A. BLOB columns can be encrypted to increase security 

B. All tables in PegaRULES database should have a BLOB-type column 

C. BLOB columns allow easy storage of complex data structures 

D. Content in BLOB columns is extracted from structured columns in the same table 

 
Answer: B 
 
 
QUESTION 8 
An architect would like to create a report that has data from a work class and the operator who 
created the work. All of the following are viable mechanisms to do this, except: (Choose One) 
 

A. Configure entries in the "Class Join" part of the report definition 

B. Use an association rule between the classes 

C. Configure entries in the "Subreports" part of the report definition 

D. Configure entries in the "Declarative Index Join" part of the report definition 

 
Answer: D 
 
 
QUESTION 9 
The "Optimize for Reporting" wizard is run on a BENEFICIARYID property in a newly created 
BENEFICIARIES page list property. To support this action, PRPC creates all of the following, 
except: 
(Choose One) 
 

A. A database index on the BENEFICIARYID column 

B. A BENEFICIARYID database table column 

C. A declarative index 

D. Another BENEFICIARYID property 
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Answer: A 
 
 
QUESTION 10 
Which of the following features is not available via the report editor? (Choose One) 
 

A. Adding columns 

B. Using a function 

C. Changing pagination settings 

D. Using a defined association 

 
Answer: C 
 
 
QUESTION 11 
Review the following rule: 
A work object with an urgency value of 10 reaches an assignment with this service level rule 
attached. After three hours have passed, the urgency value of the assignment will be ______. 
(Choose One) 
 

A. 10 

B. 20 

C. 23 

D. 25 

E. 28 

 
Answer: C 
 
 
QUESTION 12 
Consider the following report output. Assume that all three operators have work objects in all four 
statuses (New, Open, Pending, Resolved-Completed). 
The filter condition rows for the report definition are as follows: 
What might be the filter conditions? (Choose One) 
 

A. A AND (B OR C) 

B. A AND B AND C 

C. A OR B OR C 

D. (A AND B) OR C 

 
Answer: D 
 
 
QUESTION 13 
When a Declarative Page runs on a node, which of the following methods is used to determine 
the RuleSet list used to access the load activity? (Choose One) 
 

A. The end user's RuleSet list 

B. The access group configured in the declare pages rule 

C. The access group of the user's Organization 

D. The access group of the user's Division 

 
Answer: B 
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QUESTION 14 
Which of the following statements most accurately describes the relationship of operators and 
access groups? (Choose One) 
 

A. An operator can belong to multiple access groups but only 1 is active at a time 

B. An operator can only be assigned to a single access group 

C. An operator can belong to multiple access groups which are combined to define the roles and 
privileges of the operator 

D. Only managers can have multiple access groups 

 
Answer: A 
 
 
QUESTION 15 
Using the role related screenshots for the access group shown below and assuming no access 
deny rules are used, which of the following statements is most accurate? (Choose One) 
 

A. The privilege, SensitiveInfo, will be granted as the order is not significant 

B. The privilege, SensitiveInfo, will be granted since the Admin role is evaluated last 

C. The privilege, SensitiveInfo, will not be granted since Manager role is evaluated first 

D. The privilege, SensitiveInfo, will not be granted since Manager role specified a 0 as the 
production level 

 
Answer: A 
 
 
QUESTION 16 
Assuming only the user role seen below and no access deny rules, will an operator with only the 
User role be able to open instance of MyCo-HR-SelfService-Work-Benefits? (Choose One) 
 

A. Yes, the value 5 from MyCo-HR-SelfService-Work is inherited 

B. Yes, a blank cell means the access is granted 

C. No, inheritance is not used at all in security processing 

D. No, only the most relevant class is evaluated 

 
Answer: D 
 
 
QUESTION 17 
Which of the following is the most appropriate way to limit which operators can execute a 
particular flow action? (Choose One) 
 

A. A When rule referenced on the flow action form 

B. A privilege referenced on the flow action form 

C. A Rule-Obj-Validate referenced on the flow action form 

D. An activity, that calls a decision rule, referenced on the flow action form 

 
Answer: B 
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